Bid #OPN21160929B1 - Westcot Cots, Racks and Dust Covers

Creation Date Mar 13, 2018 End Date Apr 9, 2018 2:00:00 PM EDT

Start Date Mar 21, 2018 2:34:33 PM EDT Awarded Date Not Yet Awarded

OPN21160929B101-01 Westcot FNC: F	unctional Needs C	ot				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Integrity Medical Solutions	Alt 1 - \$221.00	400 / each	\$88,400.00		Υ	
Agency Notes: co	ternate Item; not nsidered for award. otal Price deducted om Supplier total.	Supplier Product Co Supplier Notes: Wai Westcot FNC No Safety	rranty: 1 year			
Alberto Zaltzberg	First Offer - \$286.00	400 / each	\$114,400.00		Υ	
Product Code: Agency Notes:		steel. Weight capacity u head elevation. Two sa zipper pouch attaches v padded cover is made	rranty: 1 year 18" Tubular frame made up to 450 lbs. Separate 4 fety side rails personal a with Velcro straps are inc from waterproof and wa required - just unfold the	position a and a belon cluded. The shable fire	djustable gings e foam retardant	
Integrity Medical Solutions	First Offer - \$316.00	400 / each	\$126,400.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: WCFNCIVSR Supplier Notes: Warranty: 1 Year				
Pharmacare International Inc	First Offer - \$349.00	400 / each	\$139,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Wai Price includes IV poles, INTEGRITY MEDICAL/N Price calculated for 50 e a few separate order.	rranty: one Year rails, Mattress	ping cost in	cluded for	
The Office Cart LLC	First Offer - \$391.87	400 / each	\$156,748.00		Υ	
Product Code: Agency Notes:		Supplier Notes: War	ode: Westcot Functiona rranty: Manufacturers V eds Cot with Mattress, IV	Varranty	t	

OPN21160929B101-02 Westcot BPC: Bariatric Patient Cot							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Integrity Medical Solutions	First Offer - \$300.00	50 / each	\$15,000.00	Υ	Υ		
Product Code:	Supplier Product Co	ode: Westcot Bariatric F	atient Cot				

Agency Notes:			Supplier Notes: Warranty: 1 Year			
Pharmacare International Inc	First Offer -	\$349.00	50 / each	\$17,450.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: War Price includes with Matt	ranty : 1 year		
The Office Cart LLC	First Offer -	\$391.87	50 / each	\$19,593.50		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: War WestCot Bariatric Patier	ranty: Manufacturers \		
Alberto Zaltzberg	First Offer -	\$704.00	50 / each	\$35,200.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: War 700+ lbs working capac Spun Tube Ends Heavy Duty Leg Locks of Reinforced Decking with Mattress meets FED ST Anti-Tilt Legs Available	rranty: 1 year ity on all legs h Hook and Loop Sprin	gs	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Integrity Medical Solutions	First Offer - \$383.00	100 / each	\$38,300.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War			
Pharmacare International Inc	First Offer - \$390.00	100 / each	\$39,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War 10 bed rolling rack for W	ranty: one year		
The Office Cart LLC	First Offer - \$436.62	100 / each	\$43,662.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War Westcart 10 Bed Rolling FNC Cots or SurgeCots 3	ranty: Manufacturers V Rack - Holds 10 Westco		
Alberto Zaltzberg	First Offer - \$800.00	100 / each	\$80,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War Holds 10 Functional Net 15 General-Purpose Bec 38ĀfĀfĀ,Ā¢ĀfĀ,Ā,Ā€Āf 80ĀfĀfĀ,Ā¢ĀfĀ,Ā,Ā€Āf	r ranty : 1 year eds and/or Medical Res _l ls Â,Ã,³ x 42.5ÃÃ,¢Ã	•	

Welded steel construction
Laser cut components
Baked-on, powder-coated, textured finish
Two fixed casters, two swivel casters

OPN21160929B101- 04 Westcot CART:	Westcart BB6					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Integrity Medical Solutions	First Offer - \$285.00	15 / each	\$4,275.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War				
Pharmacare International Inc	First Offer - \$329.00	15 / each	\$4,935.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War WestCot Bariatric Bed Ro	ranty: one year			
The Office Cart LLC	First Offer - \$370.50	15 / each	\$5,557.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: WCBB6 Supplier Notes: Warranty: Manufacturers Warranty Bariatric Bed Rolling Rack - 6 Bed 42.50 Deep x 43.00 Wide x 49.00 Tall				
Alberto Zaltzberg	First Offer - \$810.00	15 / each	\$12,150.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War				

OPN21160929B101-05 Dust Covers with Hook and Loop Closures for WCR10 Carts							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Alberto Zaltzberg	First Offer - \$40.00	120 / each	\$4,800.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes: War	ranty : 1 year				
		About the product					
Patent pending leak-proof outer cover and stre					des for a		
		custom shape and fit.					
		Easy-to-use hook & loop	p closures.				
		One- step cloth diaper	- no stuffing				
		Semi-attached, Stay-Dry	y inserts dry faster and a	llow for cus	stomized		
		absorbency where your	child needs it most.				
Integrity Medical Solutions	First Offer - \$65.00	120 / each	\$7,800.00		Υ		
Product Code:		Supplier Product Co	de: Westcart Dust Cove	er			
Agency Notes:		Supplier Notes: Warranty: 1 Year					
Pharmacare International Inc	First Offer - \$79.90	120 / each	\$9,588.00		Υ		
Product Code:		Supplier Product Code: WCR10cart					
Agency Notes:		Supplier Notes: Warranty: one year					
		cover for Carts/ 10 cart	• ,				

The Office Cart LLC	First Offer - \$80.43	120 / each	\$9,651.60		Υ	
Product Code:		Supplier Product Co	de: WCR10&8			
Agency Notes:		Supplier Notes: Warranty: Manufacturers Warranty				
		Dust Cover for WestCart	: 8 & 10 Racks			

Supplier	Unit Price	Qty/Unit	Total Price Attch.				
Integrity Medical Solutions	First Offer - \$65.00	15 / each	\$975.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: WCDCBB6 Supplier Notes: Warranty: 1 year					
The Office Cart LLC	First Offer - \$80.43	15 / each	\$1,206.45		Υ		
Product Code: Agency Notes:		Supplier Product Code: Dust Cover for Bariatric WestCar Supplier Notes: Warranty: Manufacturers Warranty Dust Cover for Bariatric Westcart			uit		
		Dust Cover for Bariatric	Westcart				
Pharmacare International Inc	First Offer - \$89.00	Dust Cover for Bariatric 15 / each	Westcart \$1,335.00		Υ		

OPN21160929B101- 07 Westcot Dispos	sable Linens West	cot Disposable Linen	s for Functional Nee	ds Cots								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs							
Integrity Medical Solutions	First Offer - \$15.00	2690 / each	\$40,350.00	Υ	Υ							
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Wai	ode: WCDLP rranty: 1 year workman:	ship								
Pharmacare International Inc	First Offer - \$17.20	2690 / each	\$46,268.00		Υ							
Agency Notes:		Supplier Notes: War Price is based on buyin shipping and handling f	g smaller quantities that	consist of	separate							
The Office Cart LLC	First Offer - \$18.99	2690 / each	\$51,083.10		Υ							
Product Code: Agency Notes:		Cots Supplier Notes: War	ode: Disposable Linen for ranty: Manufacturer's Vens Westcot Disposable	Varranty								

OPN21160929B101- 08	OPN21160929B101-08 Westcot Disposable Linens for Bariatric Cots							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Exhibit 1 OPN21160929B1

		01111111001011010	1 6	ige o oi	U
Integrity Medical Solutions	First Offer - \$20.00	70 / each	\$1,400.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War	ode: WCDLPBB rranty: 1 year workmans	ship	
Pharmacare International Inc	First Offer - \$23.90	70 / each	\$1,673.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War Price is based on purch		ers	
The Office Cart LLC	First Offer - \$33.99	70 / each	\$2,379.30		Υ
Product Code: Agency Notes:		l	ode: Linen for Bariatric C rranty: Manufacturer's W ens for Bariatric Cots		

Supplier Totals Adjusted Supplier Total is \$234,500; f Integrity Medical Solutions \$196,500.00 (8/8 items) linclusive of Base Bid Item 1 and excludes Alternate Item 1. **Bid Contact Bob Wright** Address 1028 Railroad A shaun.taylor@integritymedicalsolutions.com Shelby, NC 28152 Ph 941-505-9267 Fax 919-869-2463 Supplier Code VS0000015119 Qualifications SB **Supplier Notes:** Head Agency Notes: Attch: f Pharmacare International Inc \$259,849.00 (8/8 items) **Bid Contact** Address 7909NW 40th St Veronica Singh Pharmacareintl@msn.com Davie, FL 33024 Ph 954-253-7288 Supplier Code VS0000000384 Qualifications CBE MBE SB SBE WBE **Bid Notes Our Prices includes**

2.Payment upfront to the Manufacturer Integrity Medical as they requesting from Vendors which They are also our Competitor for West cot FNC and Bariatric cots here for this bid BIDSYNC

Our price includes everything you ask for, warranty from manufacturer, insurances, and our price includes shipping and the installation as you requested that the Manufacturer do not provides directly to end user as Broward County. We experience at Broward

County for this kind of project.

Smaller Orders, minimum order request for 50 to 100 at a time.

shipping and handling for each separate order included and installation when needed.

Supplier Notes: Our Prices includes

2. Payment upfront to the Manufacturer Integrity Medical as they requesting from Vendors which They are also our Competitor for West cot FNC and

Bariatric cots here for this bid BIDSYNC

Agency Notes:

Exhibit 1 OPN21160929B1 Page 6 of 6

Head Attch:

Our price includes everything you ask for, warranty from manufacturer, insurances, and our price includes shipping and the installation as you requested that the Manufacturer do not provides directly to end user as Broward County. We experience at Broward County for this kind of project.

Smaller Orders, minimum order request for 50 to 100 at a time.

shipping and handling for each separate order included and installation when needed.

f The Office Cart LLC \$289,881.45 (8/8 items)

Bid Contact Kim Anderson Address 1475 W CYPRESS CREEK RD STE

panderson@theofficecart.com 100

Ph 561-244-5450 Fort Lauderdale, FL 33309 Fax 954-974-1203

Supplier Code VS0000008298

Qualifications MBE SB

Agency Notes:

Qualifications CBE MBE SB SBE WBE

Supplier Notes:

Alberto Zaltzberg \$246,550.00 (5/8 items)

Bid Contact Alberto Zaltzberg Address 20355 ne 34 ct keylacorp@az-emarketing.com #1827

Ph 954-889-3900 miami, FL 33180

Pn 954-869-3900 miami, FL 33180

Agency Notes: Supplier Notes: